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(i)  Explain the process of Investment.

(i) Distinguish between Investment and Speculation.

OR

(i)  Write short note on : Financial Derivative.
(ii) Explain the process of Portfolio Management.

Select appropriate alternative : (any four)

(1)
(a)
(€)
(i)
(a)
(c)
(1)
(a)
(c)

is not a type of Mutual Fund Scheme.
Equity Fund (b) Debt Fund
Balanced Fund (d) Provident Fund
15 the most risky secunty.
Debenture (b) Government secunty
Units of mutual fund (d) Equity share
15 not an instrument of capital market.
Equity share {b) Debenture
Bond (d) Commercial paper

wod Apmigierelnn

(iv) Rate of returnonsecunity :  15% 13%  10%
Probability 03 05 02

Expected rate of return on security is

(a)
(¢)

10% ) 12%
15% d 112%

(v)  Money market is regulated by

(a)
(c)
(vi)
(a)
(c)

SEBI (b) IRDA
Finance Minister (d) R.B.IL

(ransactions are not recorded on stock exchange.
Futures (b) Call

Put (d) Forward

v P.T.0
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- - ormation and
i1y Calculate beta value of return on secunty from following info

also state what does 1t mdicate :

rJ

e
F =
A

Time penod |

y 7
Rate of Retum on Secunty (%) 8 0 15 06 0

Rate of Return of Stock Index (%) o 12 18 08 09
() Explain strategies of Risk Management.
OR
(1) Explain relationship between Risk and Return.
(i)  Explain Systematic Risk and Unsystematic Risk.

Select appropriate alternative : (any four)

(1)  ___ chartis not used in technical analysis.
(a)  Line chart (b} Bar chart
(¢) Histogram (d) Pie chart
() i1s called a father of technical analvsis.
(a) Harry Markowiiz (b)  Wilham Sharpe
(¢) Gordon (dy Charles Dow
(i) Efficient Market Analysis 1s prevalent as .
(a)  ABC Analysis (b} Fundamental Analysis
(c)  Chartist theory {d) Random walk theory
(iv) i1s 15sued by the government to raise funds to meet long term
fidancial requirements,
(a}  Commercial paper (b} Equity share
(¢)  Treasury Bill (d) Treasury bond
(v)  Beta value of return on security shows .
(a) Total Risk (b) Business Risk
(c) Financial Risk (d) Systematic Risk
(v1) 1s not a market of securities.
(a) Capital Market (b) Money Market
{c) Primary Market (d) Customer Market

(i) Explamn traditional portfolio theory of Harry Markowitz,

(1)  Explain modern portfolio theory of William Sharpe.
OR

(i) Explain the concept of optimurn portfolio.

(1) Explain Pontfolio expansion.

GujaratStudy.com
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(b)  Select appropriate alternative * (any three) 3
W average is used for calculanon of return in Portfolio theory.
@ Simple by Harmonw
&) Geometrnic wh Weghted
(1) Traditional Portiolio theory propounded by Markowitz covers
risk.
(av  Systemate (b1 Unsystematic

i) Financial Wt Toual

(i) Arbitrage pncing theon covering vanous factors 18 propounred by
(@) Harry Markowitz (bY  William Sharpe‘
() Black-Scholes (d)  Stephen Roze

(iv)  When standard deviation of rate of return of two secunties A und B ure 8%
and 12% respectively the ideal distribuuon of portfolio fundawill be in the

proporuion of
@ 1:2 (b 203
€y 1:4 (g 302
(v) The concept of opumum portfolio 1< shown by William Sharpe in
form

‘ (ar Etficient fronner /(b‘i Uity function
1) Rute of Return - d

3 Security market hine

4 (@ (i Swie assumpuons of Capital Asset Pricing Model (CAPM). 7
(i) Explain the concept of Efficient Fronuer. 7
OR

(1) Disunguish between capial market line and secunty market line.

(1) Discuss limitanions of Capital Asset Pncing Model (CAPM)

(b) Select appropnate alternanve : (any three) 3
(i)  Pontfolio theory. 1957 was propounded by
(ar  Kevnes by William Sharpe
(¢)  Stephen Rose (dv Hamy Markowz
(M)  ___ nskcan be reduced by Porttolio diversification.
(2l Systematic by Market
¢y Toual idy Unsystemane

OA-111
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(Personal Tax Planning)
(New Course)
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1. (a) Shri Monty is a foreign citizen. Determune his residential status for A.Y 2019-20
14

from the days of hs stay in India.

Year Bl No. of days of stay in lndia :

T304 “Ta0
2014~ 15 | 160
2015 - 16 \ - |
2016 - 17 200 |
2007 - I8 | 100
W18 19 70

He recetved following incomes during P.Y. 2018-19. Give your opimon about tax
planning so that he could have reduced his tax habibty. Also calculate tax payable

by him.
Particulars ?
(1) Income from business situated in US A recers ed in Canada 2 00,000
(2} Income from house property situated in India received in Cunada 80,000
(3) Income of interest on investment in Canada, 0% of which 1s
received in India 1,060,000
(4)  Income from business situated in India 3,00, 006)

(5}  Income from business in Canada received there. (Business 1s
controlled from India § 20,000

(&)  Income from business controlled from Canada. recerved 1n
India S0 000

OR

OA-111 16
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ta) () Dastinguish between Tax Evasion and Tax Avoidance, Y
(ur Explain objectives of Tax Planning 7
(by  Select appropriate alternative : 1any four 4
(1) method of reducing tax 15 not recognized by law.
{a) Tax planning
{(by Tuxavmdance
(c) Taxevasion
(d)  All ot these
() Income Tax Act prevails in India at present.
(a) 1860 (by 1918
(cy 196] (dy 2013
(iii) Income Tax is levied by
() State Government
Q
%. (b) Local Authorty
=
8 {¢y Central Government
o .
= (dy  All of these
o . .
< (ivi Income arised from abroad and reccived abroad is mnot taxable for
e
o
=
(a) Resident (by Ordinary Resident
(¢c;  Non-Rewident (dy  All of these
(v) Income from husiness situated in India controlled from aboard is taxable for
far  Resident
{br  Ordineny Resident
icr  Non-Resident
(dr All of these
(vir Taxability of anincome 1y decided on the bass of ,
(41 Residential status b T\f\ af neome
w Tlnk’ ¢d' All ot :hc\ﬁ
(A-111 -
3 PTO
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(a)

OA-111
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salary for P.Y. 2018-19 and advise him for tax planning.

(3)
C))

()

(6)

(7)

(8)
9)
(10)

Partlculars
Basic salary (monthly)

Deamess Allowance 60% of basic salary (Added to salary for
retirement benefit)

City comnpensatory allowance (monthly)

Education Allowance (thrce children stay at hostel)
(monthly)

Medical Allowance (Monthly)

(Actual annual medical expense is T 40,000)

The company also gives an option of reimbursement of
medicai expenses.

Company has provided him the facility of residential
accornmodation in Rajkot. The company pays rent for the
accommodation at ¥ 10,000 per month. The company also
pays rent of furniture ¥ 3,000 per month. Population of
Rajkot is 18 lakh.

The company has paid salary of his household servant and
watchman 2 1,000 each per month

Personal mobile phone bill (annual) paid by the company
Professional tax deducted from his salary ¥ 200 per month
Employee and employer both contribute 10% of salary to his

recognized provident fund.

3. (a) Shri Amitis employed in a private company. Calculate his taxable income from

He can save T 15,000 per month. Give him proper suggestions for tax planning.

(i)

(i)

OR

How will you calculate gross annual value of let out house property ?

Explain in relation to A.Y. 2019-20.

Explain allowable deductions from net annual value of let out house

property in relation to A.Y. 2019-20.

18
GujaratStudy.com
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(b) Select appropnate altemative : {any four)

(i) Enterainment allowance received by non-government cmployees is tax free

upto
(@ 5,000 (b) 20% of salary
(c) Actual amount received (d) zero
(i) Pension received afier retirement is taxable as income.
(a) Other sources (b) Capital gain
(¢) Tax free (d) Salary

(iti) Training expenses of employee, paid by employer is —
(a) taxable for all types of employees
(b) taxable for specified employees
(c) tax free upto ¥ 20,000 for all types of employees
(d) tax free for all types of employees

(iv) is not included in income from House Property
(a) Income from farm house
(b) Income from assets held by trade union

(c) Income from assets of university

wod Apmgierelnn
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(d) Al of these

(v) Net Annual value =

(a) Gross annual value - Municipal taxes paid by the tenant

(b) Gross annual value - Municipal taxes paid by the tenant and

outstanding municipal taxes

(c) Gross annual value - Municipal taxes paid by the landlord and

outstanding municipal taxes

(d) Gross annual value - Municipal taxes paid by the landlord

(vi) As per finance bill 2019, an assessee can hold houses as self
occupied on which he has not to pay any (ax.

(a) one (b) none

(c) three (d) two

0A-111 P.T.0.
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(n) Caleulate taxable capital gain for A N2 frenn e indenmrad st 1Y Y

caplial ussety glven belerws by Karnal. 14
He wints 10 reduce tax by investing ¥ 201005} it of capital gaca. (rve yox
suggestions for planning the taz on Capntal gain
Purticulars of capital nssets wold by himn dunng previrss yoel &2 & wrles -
a T (‘.';p_lia.l A;«u‘u L4
Particulars e EE— -
Residential Hiuse |.and CAd
Sale Comvideration | 0N | 0in | 1SI000
Year of Purchase WA -5 . | WhH-UT . SIS A
Cost of Acquisition s | 10000 A000 |
Year Index No.
2004 - 05 113,
2006 - 07 122
2007 - 08 129
2018-19 280
OR
(a) (1) State any seven incomes taxable under the bead of income from bocness
and profession. 7
(1i) State any seven admissible general deducticns from mcome from bustess
and profession. 7
(b) Select appropniate aliemative : (any three) 3
(i) ______isnotacapital asset.

(a) Residential House
(b) Machine for business
(¢c) Agricultural land situated in India

(d) Gold
(i) czpitalassethtldf(rmct‘:ﬂ%m:ﬁ:sistﬂxg
term capital asset.
(@ Equity share () Debennre
(c) Gold (d) Governmen: sacurities

20
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4, (a)
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{tn)

(1v)

(v)

Estimated incomes of Shri Shah for financial year

(1)
(in)
(i)
(1v)
(v)
(vi)
(vii)

{vin)

GujaratStudy.com

Assels
s on which, s .
Ch, same rate of depreciation is admissible are cailed as

(@y  Fixed assets, tanpible
(b)Y  Fixed assets, intangible
(€Y Block of assets

(d)  Fixed and current assets

Capital expenditure incurred for scientific research in an existing business 1S
admissible as deduction in years.

(a)  Three

by Two

(¢)  The year in which the expenditure is incurred

{(d) Not deductible

e ———

Salary received by a partner of a partnership firm is taxable as
Income.
(a) Salary (b)  Other sources

(¢c) Business-profession (d) None of these

2019-20 are as under : 14

3
10,00,000

d situated outside India 1,00.000

Taxable income of salary

Income from agricultural lan

Income from agricultural Jand sitvated 1n India 50,000

ceived as director of a company 30,000
70.000 (TDS @ 30%)

45,000 (TDS @ 10%)

Fee re
Winnings from lottery (net)

Interest on debentures (net)

Dividend received on shares of Indian companies 8,000

Taxable income from House Property 90.000

From the above information. calculate income tax payable for A.Y. 2020-21 and

give your suggestions to reduce tax hability by proper tax planning.

OR

21 P.T.O.
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- 7

iad ) Fapln stages tor calculating income tax pmd in advance,

(b Waite short note on - Liabahity of Advance tax payable 7
(M Selectappropiate alteonative | (any three) 3

(1 Rentrecenad trom open plot of land is taxable as e

U Tocome from other sources
(MY locome Trom house property
wh As decuded by the assesse out of (2) and (b)
WY Tax free
{m

s not a wholly tax free security

@ Fived deposit with State Bank ol ladha

(b Natonal Defence Gold Bonds - 1980

(¢) Specal Bearer bonds 1901

(7% Capital investment bonds

() 1 the value ot gitt iy upto _1tis not considered as taxable gift,

Y T S0.000 (b T 1.00,000 ¢y T30,000 (d) T 20,000
(v Homcome tax retum s filed after the specified date, the assesse is liable 1o
Py meTest onoincome tax at rate from the specified date of
T rctuen to the actual date of filing return.

) 1% per month by 0.5% per month
(€} X% per annum (dy ¥ 1,000 per month

(v) If the refund 15 not puid by the income tax

department to the assesse within
specified time, the income tax department pays

interest from the
specihied time to the date of sanctioning refund

(@) 0.5% per month (d)Y 1% per month
(¢} 8% per annum (d) ¥ 1,000 per month
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